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Q=SHxMxTyxS1+Purx860%S2+Pimmx860%Ss3

He:

Q= K84 TN % (kcal/hr) SH=[E#} tk#h(kcal/kg.C)

M =R B 2 BE(kg/hr)

To=RELRE BRIEIRE Z(TC), —MA200T
Si=R2FH, —MAEL1.5~2.0ZHER.

Prr=12 BLETEC f BB Th 2 (kW)

So=HMEE BRFERH, —MATUFE0.6~0.8 fElIEEL.
Pimm= B EL 5 R T 2 (kW)

Sy=mEHMRINEFRE, —MATU7£0.35~0.5Z &M,

ERBE—EHEAIESZKIAHRT, FEFEERAFNAKRE,

BRIRENLKRESX, RIAIEENRSES, LAMRMLT.

L1=Q/ (SHxT4xSD)/1000

He:

Li=47KR2E(m3/hr) Q=K &4 ThZEE (keal/hr)

SH=7k Ytk #(kcal/kg.C), —RA1

To=R Rt HKDREE(T), —RAS

SD=7k#yttE(kg/L), —HEA1

WMERLKERKLTL K, FEFELAMKNRE:

L>=(Q+Pcx860)/(SHxT4xSD)/1000

He:

Lo=% A7k 7 &(m3/hr) Q=FTHE &2 T (kcal/hr)
=BHEHINE(KW) SH=7kAtk#(kcal/kg.C), —fkA1

T=REEHKDBEZE(T), —HKAS

SD=7kMttE(kg/L), —MA1

ROBHIE AR, ERERS TERERMANEGGET, AR

MTAXFHE.

Qu=SHXxMxT¢xS1/Tw

Hep.

Qu=ZE K MNFALNE (kcal/hr)

SH=## B 44 #} tb#(kcal/kg.'C), —#&50.109
M=#EERES(kg) T=REBEFHRELRIEE(T)
S1=R&FH, —MAIELS~2.0ZfEER

Tu=3 K hnEkesE (hr)

Qc=SHxMxTxS1+Prx860x%S>

Hep.

Qc=F KA AThE (kcal/hr) SH=/E#}tt#h(kcal/kg.C)
M= B 1 2 BE(kg/hr)

T=rELRE MIMEGRE £(C), —M#A200T
S1=R&FY, —MAIEL5~2.0zHER

Prr=18 B F AL f SR IB TN 2 (kW)
S=HiREBEREFREY, —REFTLI7E0.6~0.8ZEiEE

L1=Qc/(SHxTsxSD)/1000
Hep.

EkFimmEM3/hr) Qc=FKAANINE (kcal/hr)
SHw=7J<E"]tI:??¥(kcal/kg.°C), —MAl
To=tRBitt Hk DREZE(T), —MAS
SDw=7kByttE(kg/L), —MH1
SHw=1& ;i A b #(kcal/kg.C), —M50.57
SDw=E#4lAy Lk E (kg/L), —AEA0.8

150 ELEYE S EHiR{E
- ERE °F  ERE T (°F-32)x5/9=C
T OBRE c ®\EE °F  (C+32)x9/5=F
B E#HmEEs GPM KSR m?/hr 0.2271
;1‘% STHERSS CFM  SrHKENIES mehr 1.6992
= NHEH L/min 3275 KE/EF mé/hr 0.06
B BHASTEAET PSI FTRB8FAHEKXR  kg/m? 0.2271
Y oe bar FEEFHEKX ko 1.6992
T Kpa FREFEHEK kgm? 0.06
iy inch =k mm 25.4
RE =R foot =Tk mm 304.8
Sk dm =X mm 100
A% cuinches  F L(dm?) 0.0164
P MAER cufeet # L(dm3) 28.3168
= Ldms) 7k me 0.001
7t L(dms) SFEXR cm? 1000
TR kw  FEEEF keal/hr 3860
TR kw ZEEEE/ e BTUMr 3413
mE TR kw SH hp 1.341
TR kw  THESE kjthr 3612
FR kw ATE RT 3.5163
F+ kcal F£& Kj 4.2
HE TH KN EE keal 0.2381
HRRE L BTU T+ keal 0.252
=5 Fx kg B pound 2.2046
= @ pounds T3 kg 0.4536
THFESF  sqinches FHEX cm? 6.4516
mE FAXK m?  EHEXR cm? 10000
TRHER sqfeet FHK m? 0.0929



